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_ 1. The range {in yards} of a large gun {distance to where the shell hits) is ; )
f?) given by the formula R = BOOU sin{26) , 0 < & < 11/%, whers 8 is the angle { allspsn’ ATH

of slevation of the barrel above the horizontsl, What angle will give the
maximum rangs? what is the maximum range?
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g’ 2. Find the general antiderivative of each of the following. g
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i 3. Solve for y as g funclion of x
dy 2 . »
= = 3x4, where y = 4 when X = 1. is/22
dx _ .
Y= X e 3
f y:zx’ﬁxg
gﬁ;ﬁ- = {4 C
=
'3; 4. Acorral {s To be buillt as shown in the disgram. The outer fence costs $10 ,gji
per footl.. The inner fence is lighter, and only costs ¢3 per fool. The corral 12

has to be 500 {12, what dimensions will give the ieast cost?
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